\\dcO1\rwbc\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15362 - Swinging Ext Doors - Redituff and Achiever\C - Drawings\FL-15362 (2020)\FL-15362.1-6.dwg

<) Dunbarton.

CORPORATION
868 MURRAY ROAD, DOTHAN, AL 36303

ACHIEVER
STEEL FRAME SYSTEM
with Sidelite(s)
Utilizing a Steel Door Panel

INSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 7th Edition
(2020) Florida Building Code (FBC) structural requirements excluding the
"High Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product is
required to be protected with an impact resistant covering that complies
with FBC Sections 1609.1.2 & R301.2.1.2.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical elevations, design pressures & general notes

Door panel details

Door panel details

Sidelite panel details

Horizontal cross section

Vertical cross sections

Vertical cross sections

1
2
3
4
5 Horizontal cross section
6
7
8
9

Buck anchoring
10 Frame anchoring
11 Frame anchoring
12 Bill of materials and components

67.00" MAX. FRAME WIDTH

83.00" MAX. FRAME HEIGHT

V4

a

VA

Oval Glazed

i B=————

Oval Glazed

[~ O |
=

==
==

Opaque

Rectanglar Glazed

Opaque

Rectanglar Glazed

DIMENSION:

Oval Glazed

Glazed

Rectangular

Opaque

67.00"
X
83.00"

35.75"
X
79.00"

12.13"
X
79.00"

August 11, 2020

813.659.9197

FBPE Registry No. 9813

BUILDING CONSULTANTS, INC.
P.O. Box 230, Valrico, FL 33595

Documents Prepared By:
Lyndon F. Schmidt
Phone No.:

, DESIGN '%W

DUNBARTON
PRESSURES & GENERAL NOTES

ACHIEVER STEEL FRAME SYSTEM |P-E. No. 43409
TYPICAL ELEVATIONS

PRODUCT:

JK
Y

9/29/17 | UPDATE TO 6TH ED. (2017) FBC | LFS| PART OR ASSEMBLY:

8/11/20 |UPDATE TO 7TH ED. (2020) FBC | DAC
3/23/15 |UPDATE TO 5TH ED. (2014) FBC

3

oN

1

NO.) DATE

REVISIONS

DATE: 03/14/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-15362.2

SHEET _1 oF 12

© 2012 R.W. BUILDING CONSULTANTS INC.



KNOB:
DEADBOLT:

?

\

e
@
(X

a%e8e 33: 0%02a %5
9808000042420 %% %

4,06"

~— 3.06" —

35.75" PANEL
WIDTH
Q| |
& 3
] W
Ll
T ’
o - e
Z =gy — ~
a 0y
in = ==

11.88"

5"

L et

dal

JELD-WEN DOOR PANEL
{Steel)

SEE HARDWARE

v

5.5"

0.75" —=

@ LOCK BLOCK

@ HORIZONTAL CROSS SECTION
2

=
S %

STEEL DOOR SKIN
. 02" THICK
i m——— R
o1
@ TOP RAIL -
vt POLYSTYRENE

1.3

" ﬂ

L——*L‘ .7
. BOTTOM RAIL
Steel
211" - /"2 "\ VERTICAL CROSS SECTION
- \2/
(::) DOOR SWEEP

.
-

0.83"

August 11, 2020

P.0. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS,

Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

DUNBARTON
ACHIEVER STEEL FRAME SYSTEM
DOOR PANEL DETAILS

PRODUCT:

DAC
K
BY

UPDATE TO 7th ED. (2020) FBC

9/29/17 |UPDATE TO 6TH ED. (2017) FBC | LFS| PART OR ASSEMBLY:
3/23/15 |UPDATE TO 5TH ED. (2014) FBC

8/11/20

3

N

1

NO.| DATE

DATEQ3 /14 /12

scate:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-15362.2

SHEET 2 oF 12

R\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15362 - Swinging Ext Doors - Redituff and Achiever\C - Drawings\FL-15362 (2020)\FL-15362.1-6.dwg, 2.2

' FBPE Registry No. 9813

REVISIONS

© 2012 R.W. BUILDING CONSULTANTS ING.



R:\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL.-15362 - Swinging Ext Doors - Redituff and Achiever\C - Drawings\FL-15362 (2020)\FL-15362.1-6.dwg, 3.2

KNOB: FI3 SERIES
PAMEX DEADBOLT:  FD2 SERIES
INTERIOR

—1/2" GLASS BITE
1" THK. GLASS

1/8" TEMPERED GLASS

N~ AIR SPACE

i \
1/8" TEMPERED GLASS
LUM SPACER

READI-SEAL SEALANT
EXTERIOR

() GLAZING DETAIL
ODL HP Lite Frame

35.75" MAX.
PANEL WIDTH

19.00" MAX.
D.LO.

l D

79.00" MAX. PANEL HEIGHT

55.25"MAX. D.L.O.

2

|

A4

SEE HARDWARE
CHART

ole

JELD-WEN STEEL DOOR PANEL
{Oval Glazed)

OPTIONAL DECORATIVE INSERT

EXTERIOR

HOMERUN SEALANT

READI-SEAL SEALANT

GLASS BITE 3/8"

=t

ALUM SPACER
_1/2" OVERALL GLASS THK.
1/8" TEMPERED GLASS
,;AlR SPACE

#8 X 1-1/2" PPH SMS

INTERIOR

\1 /8" TEMPERED GLASS

C:) GLAZING DETAIL
ODL HP Lite Frame

_ 3575'MAX. _ _
PANEL WIDTH

21.00" MAX.
D.LO.

D

JEU—

79.00" MAX. PANEL HEIGHT

63.00" MAX. D.L.O.

%

/
v

N
SEE HARDWARE
CHART

ole

V4

D
JELD-WEN STEEL DOOR PANEL
{Rectangular Glazed)

]u

1.7

@
LvL

]n

17

TOP RAIL
VL
°‘°2' ”’&_ﬁ]

1
. BOTIOM RAIL
Steel

" l3"

0.83"

21" *l
}__
<::) DOOR SWEEP

INTERIOR

/D HORIZONTAL CROSS SECTION

406"

- 3.06' —~]

11.88"

'
%

()
()

‘ LOCK BLOCK -

|d

I e

5.5"

August 11, 2020

INTERIOR EXTERIOR
[:
POLYSTYRENE
STEEL DOOR SKIN
024" THICK
3D
3E

/" 2"\ VERTICAL CROSS SECTION

3/

813.659.9197

~

”
P.0. Box 230, Vairico, FL 33585

BUILDING CONSULTANTS, INC.
Phone No.:

" FBPE Registry No. 9813

Documents Prepared By:+,\J

Lyndon F. Schmidt
P.E. No. 43409

Ry

DUNBARTON
DOOR PANEL DETAILS

ACHIEVER STEEL FRAME SYSTEM

PRODUCT:

DAC
K
BY

UPDATE TO 7th ED. (2020) FBC
REVISIONS

9/29/17 |UPDATE TO 6TH ED. (2017) FBC | LFS| PART OR ASSEMBLY:
3/23/15 |UPDATE TO 5TH ED. (2014) FBC

8/11/20

NO.| DATE

3
2
1

oNE03/14/12

ScAlE: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-15362.2

SHEET 3 oF 12

© 2012 R.W. BUILDING CONSULTANTS INC.



11.88" PANEL
WIDTH
5.88'D.LO. e
WIDTH
q
r—r——t/—a\
O ] /B
I a
=
T 0 :
Fan] Q —e
28 o
= O i
g o .
o g
S
R

STEEL PANEL

DOOR SKIN STEEL
02" THICK

ODL HP LITE FRAME EXT.
READI-SEAL SEALANT

ODL HP LITE FRAME INT.

-‘n

D

HOMERUN SEALANT

ALY

N

#8 X 1-1/2"PPH SMS

EXTERIOR

/i
I/
1

. :
3
g

g

kS

3

3

g

3

)

S

g

3

8

2

S

3

8

i

e Ak ek

it

A

INTERIOR

POLYSTYRENE

/ 1"\ HORIZONTAL CROSS SECTION

NG

EXTERIOR

GLASS BITE 3/8"
ALUM SPACER
—— 1/2" OVERALL GLASS THK.
1/8" TEMPERED GLASS
% AIR SPACE

\ 1/8" TEMPERED GLASS

INTERIOR

C:) GLAZING DETAIL

1.71"

]ll

&

POLYSTYRENE

WO THTITE TR

1.3

STILE
LvL

L~ 171" —= ! ! 1.73"

‘ TOP RAIL
vt

. BOTIOM RAIL
Wood

i

wiltiigy,

\\\\\?
Ve

N
N

DOOR SKIN STEEL
02" THICK

)

EXTERIOR

/ 2"\ VERTICAL CROSS SECTION

“\JCENSg

August 11, 2020

BUILDING CONSULTANTS, INC.
P.O. Box 230, Valrico, FL 33585
Phone No.: 813.659.9197

FBPE Registry No. 9813

Lyndon F. Schmidt
P.E. No. 43409

Ry

PRODUCT:

DUNBARTON
ACHIEVER STEEL FRAME SYSTEM
SIDELITE PANEL DETAILS

DAC
JK
BY

REVISIONS

=
<
a

9/29/17 |UPDATE TO 6TH ED. (2017) FBC | LFS] PART OR ASSEMBLY:

8/11/20 |UPDATE TO 7th ED. (2020) FBC
3/23/15 |UPDATE TO 5TH ED. (2014) FBC

3

1

[aN]

OATEQS/14/1

o
=z
2

SCALE: N.T.S.

owe. 8:  JK

CHK. BY: LFS

DRAWING NO.:
FL-15362.2

SHEET 4 oF 12

Ri\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15362 - Swinging Ext Doors - Redituff and Achiever\C - Drawings\FL-15362 (2020)\FL-15362.1-6.dwg, 4.2

© 2012 R.W. BUILDING CONSULTANTS ING.



CONL SLNVAINSNOD aNidTINg "M'd"d 2 1L 02 @

£186 ‘oN Ausibey Idg4 SNOISIATY
LBL6°659°CLY ON auoud A8 31va [ON} o~
S6SEC 14 ‘OOIDA ‘0€Z xog ‘O'd § SNOILO3S SS0HD TVINOZINOH NP 084 (¥102) "03 HIS ol dvadn| si/sz/s| | |<lysix | w L
o_,___. ..mkzﬁ.szoo oNIging @ TGWISSY N0 1avd [SITT D87 (Z102) 03 HIS OL IIVadnZ1/62/6 12 1<l 2| ™ |5 . © 5
aw iy, ova| 0d4 (0z0z) "a3 Wi OL 3Ivadn| 0¢/11/8] ¢ |2 29 1y
S J(ZO\Q 2, 60¥SH ‘ON I'd o B Ele T
OO ...aaﬁm&...h.&\\\\\ IPIYSS 4 uopudl| WILSAS IAVYS TFILS ¥IATIHOV Ly m L 2B
Ilw... % “.:Ag peipdeld sjuswinoog NOLMVENNG 10N300Yd W m 213 W M
} ; 020z ‘L1 Isnbny
m' M*
T . 60vEY "ON N -
“ o«o .oo ,I,
\\\\\«w.wm,..mﬁwy%
U, \\\SIOw /////
JIITTITAN
-
o
O
| YT ]
[ 7]
A5
Q5
z Olg
o 3|5
— | ©
Q 2z
et Ols
4 N2
5
N > x| &
O
—d
= mw
&@—_| 5
L] =
Qs
N ¢ ©
=
& ® () &
©
~ (@
oL
(9] og
& 2]
= g
% ..,
=
O
3]
3 2 ® z
ol c @ ]
<{Ke} =
QIG5 @ 2
oc L8]

: OlE A
= |0 ©) Ol
= 2> &5
— Ol Q=

] ~ w wead 9
- | 5 m

&1 e NE
|5 & / m 3
Sig
>
. i
#
! /Qmw
$
E
7
“\
¢
¥
A\ \
@

S ‘BMp9-1'29€51-14\(0202) 29ESL-T\sBuImeIQq - D\idralyY pue yniipay - s100q 1x3 ButBuims - 295 1-T4\sjeroddy 1onpoig epLOY - Y\IUBUBWLISG UOLEGUNA\SIUBIIO\Y



‘ONJ SLNVLINSNGOD aNiaunNg

MY 2102 QO

7“4\ HORIZONTAL CROSS SECTION

EXTERIOR

N
Y
[« 5
& & U m
~O
3 E
&) /=
\ 4
(<4
o) S
m o
(2 z
@/ S
|
W 4,/W ) o
" -ﬁ '
m ]
AHV =
S
e~y &
O
o X
, ¢
O~
&

\8 N8/

\INZL/

/1" \ HORIZONTAL CROSS SECTION

w 2X Stud construction

/"2 "\ HORIZONTAL CROSS SECTION

w 2X Masonry construction

£186 'ON Ansibey 3dgd SNOISIAZY
L616°659°CL8 "ON °uoyd g 31va TON|w o~ N
S6SEE 714 ‘O9MIDA ‘0£Z Xog ‘O'd \§ SNOILO3S SSOYO VINOZIOH  [Sr |~ o&d (v102) a3 HIS OL aivadn| st/52/5| b |<|i|x|P] o ]
NI _.w,_.z<53mzoo oNIaiNg g& TTENISSV §0 Lavd [SIT[ 287 (Z10Z) 03 RIS OL JIVadn|Z1/82/6 12 1o =25, 88
wihilig, va| 083 (020¢) ‘03 W OL 3lvadn| 0z/11/81¢ |<|Z 0 |
zzzdr J(ZO\Q\\\ 60¥SH ‘ON ‘3I'd . Elsle
N s ter e, SRS, ypiigog -4 uopukq] WILSAS IAVHS TIILS HIAIIHOV Slul | oE =
//.W/..toﬁof..&\\ — gl2lglgEa | g
~ 5 * % fg pedpde.d sjuewunsog NOIMVENNG  :15N3G0o¥Nd S|818|5|8 &
YUl - 020¢ ‘L1 Isnbny
L : b g
: = (9]
¥: ¥ ixz 2z S =
. 60¥EYON ; = = 2
£ RS E s
\\ ..l % a l.o ,I o
v &Q......zmm\..: &
% Uij56 3
\\\\ 0 ////
Hippany

29 'BmMp'9-1'29e54-14\(0202) 29E5L-1\sBumeIq - D\andIPY pue yriipay - s100Q 1x3 Bulbuims - 29g5L-1d\sieroiddy 19npoid epUOld - Y\IUSUBLLIBY UOLIEQUNA\SIUBID\Y




"ON| SINVLINSNGD SNIGTINE MY 2102 §

€186 "ON Ansibey 3494 SNOISIAZY
LBL6°6SO°CLY 'ON euoyd A8 3iva [ON o~
S6GEE 714 ‘OOMIDA ‘OCZ Xog "O'd § SNOILD3S SS04D WIILYFA P 0dd4 (vi02) "G3 HIS oL Jivadn| si/fsz/cl L = Glx | M L
*ONi *SINVLINSNOD 'ONIaIINg @y ATEW3SSY ¥0 1Mvd {S47| 084 (/102) G3 HI9 Ol 31vadn|Z1/62/6 | ¢ V ) Sl ol
va 284 (020¢) "a3 4z oL 3vadn| o¢/1i/81 ¢ N P s 8 7_

60%EH "ON ‘I'd My ElEle T

IPIUYDS 4 uopukl| WILSAS INVYL T33LS YIAIIHOV TlYlsllE B
NOIYVANNG  Tonaoyd HEIEHEEE

o

Z
A

EXTERIOR

/ 4"\ VERTICAL CROSS SECTION

N

o
) o W
(-4
&
<
o
o
Wl wd
P o <3
| c o o
25 5 2<
5 e }
&2 < =
— m m
< S &
\ 23 )
\ &2
S SI%
i ('dAl) 'gw3
- NIW /L1
& S 7
g
—— ﬁ ‘ 4
P

{"dAL) "gwWa
NIW 7 1-1

/3 "\ VERTICAL CROSS SECTION

N
4
\7/

EXTERIOR
INTERIOR

7“1\ VERTICAL CROSS SECTION
W 2X Masonry construction

INTERIOR

72 Bmpr9-1'79£51-14\(0202) 29€5L-14\sBumeIQ - D\IaABIUDY Pue Jn)ipay - 5100Q 1x3 BuiBums - 29£5L-T4\s[er0.ddy 1onpoIg epHOld - Y\IUBURBWISd UOLEQUN\SIUIIDNY



CONY SLINVLTINSENGOD 9NIaIng "M'd 2102 @

INTERIOR

€186 '©N Ansibey 3dad SNOISIAIY
L6LE'6S9'CLE "ON 8uoud . Ad 31vd [ON| ey ~ _
S6GEE 74 'OOMIDA ‘0SZ Xog ‘O'd \Su SNOILOIS SSO¥O TVOILYIA S| 084 (7102) 3 HIS OL avadn| si/ez/e| L |<|oilx @] o | %
N ‘SINVLINSNOD ONIaTINg gﬁ TENISSV 0 19vd [SIT| 087 (Z102) 03 AL O IIVaan|Z1/62/6 |2 < Nt el ] (5
$$=_ _::\\ ova 084 (020¢) "a3 YyiZ oL 3vadn| 0¢/1i/8] ¢ ﬂ Z g _
S J<ZQ\@ 7 60V "ON ‘I'd o &5 Ele TP
II//0 ...Q.Dﬁnw.ﬂ..m... \\\\ wpuyog 4 uopus] WILSAS IAVYA T33LS MIAIIHOV n_...w m 6y S T &
Ilw... .... Mm% g poiDdeuy sjuswnoog NO1YYENNA 11oNaodd HEIRE m %
£y LT 0202 ‘L1 Isnbny
3w ¥
T . 6o¥EroN
[ [ Sy
c“ r.' .oo .l,
%, TN A &
\\ \so’cooo-.s‘w ///
\\\\\ Iuw ////
Hippnw
<
0/ A"U
[+ 4
S O
[~ 1]
& a
Y] )
o]
oz
O
I
~ 1
® &
>
oe <
o
] 5 8 4 )
——— & 3
™~ w b
Q5
Qs
OIE b
wenad
Q (-3 =<
” 1 oIS S =E
|2 & R<
£ = =p
SIR = o
Q
O
[--]
[
& S
E
/\7\
~ y
N
O 3
)
¢ T
S ¥
m “
> ot ]
w ’ [ 7]
& 3
oL
{"dAL) "aw3 m
NIW /11 <
O
&
>
Ll ™|co
5z )
& 5
w ._.w..« pnlmu
22 3
o 177} oL
! i g
Olo =
<|E
(S1E°]
&S
SNES]
&

Bmp9-1°29€51-13\(0202) Z9€5L-T\sBUIMRIQ - D\VIBA3IYDY Pue ynlipay - 51000 1x3 BuiBuims - 295 1-14\s[erciddy 19npoid BpLO|d - Y\IUBURULIB] UOLEQUNA\SIUBND\IGMINLODP\\




TON| SANVYATINSNGOD aNIaTing "M'd 2102 @

€186 "ON Ansibey 3484 SNOISIATY
LBLB'6G9CLE "ON Suoyd Ad JlVa3 TON|™N N oy
§6SEe 14 ‘OSHIPA ‘0£Z Xog ‘O'd \§ ONIHOHONV  %0nd r 284 (v102) '03 HIS oL Awvadn| si/sz/c| L |NJW|X m N H_
"ONI ‘SINVLINSNOO ONIaiNg gﬁ -ATBW3SSY dO Ldvd [S4T1 0d4 (£102) "03 HI9 Ol 31vadn|Z1/62/6 | 2 || . M0
,,cﬁc&:: ” Ovad | D84 (020z) 03 HIZ Ol 3vadn|oz/ii/a [ € || | |8 € o
////w.v¢¢..::.0\.m%\¢\ PIaOrEY. ON S| W3LSAS 3Wvdid TIELS HIAIHOY of . |&B|& g fL_. o
N / onooo DEO 7" 7, m w AU. K. L
S #I0H0Yy ~ NOLSVENNG  r1mrassg AEIHEEHRE:
%
o~ S
% . JeNTON >
\\\\«O\-W‘Nnooc.\uv‘ ////
\\\\ SIom ////
AT
_ "0 XYW v
« — :.V :m—.mN “ ﬂ' _lll.l
1 i 1 |1 1 )
i I I |
« LI
CL< g - oo
ks O
: =
“« £y 0
IAI —
o9 a
L ig o]
e b
Zz W (¥]
O uw 2
=2y =
Sxz
Y 203 A8
\«l’ R § / r ., «@
R | D L
(@S ] gy o -
R
< T I I R
b, i v 1 | § i 1 LI
Y .w. A -l Herme R .i... B
Av At ' ¥ ye v 4 ! - tv
>
S g2
2 OZ
> <2 a
N m o
% _ v _ L (dAD 070
| |- | "XVW .8G'Ge
I I I Y c o
1 1 g
I I E 839
* g =53 .
L T m S 9 ¥ %
N o S5 39k
Z £ ToO
. — o] O a <
& E o0c9
2 Q65
: o3 S 2 8¢
< T 25T O
L= Z 9
™ : 8 1 Z 2 E23
e a = . > . v 2 MR = [}
v W e RS O T 2O m g ]
PR O E T a N d -m ™~ L nd
e I e, DUU o e} 0.
» v 8 Ok
00 "XVW 4y & ZE£5
v . w O nlu.E
< HL6l s S %50
. 1 N 1 1 1 N 1 . m uM mO ) _
5 T N T | R O e 8 8o% g
' "R XX > N ’ Q Ve T 7
- He * N O o Z e H . £ IS — —
2 z= —80c0
@m Qi 4P EED=E
6 SRk
Ol2 o2 ¢ 2 @
888953 % |
SloEST o I |2
O O+~ 0k ]
ZI68GELS =
S sC 0 w.n @ =
w0 goL @ O Z|=0
Q m 0 mm N w EQ M =
31585888 Zla g
OO EEQL 2
~ o o3

BMP'9-1 Z9€5L-14\(0202) Z9E5L-T4\sBUIMEIQ - D\MBABIYDY pue ynipay - 51000 1x3 BulBuims - 9g51L-14\slerciddy 1onpoid epLOLS - Y\JuaURWIB] UOHEGUNANSIUSHDNIGMALOIPA\



\\dcOT\rwbc\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15362 - Swinging Ext Doors - Redituff and Achiever\C - Drawings\FL-15362 (2020)\FL-15362.1-6.dwg

—

RV

Tt
Iu|
MASONRY MULLION TO HEAD DETAIL )
OPENING \ —>-l - OMAX,C, .

PO e
e B P

4, L. - "'
s 7 . R TIRN " 4
R A D e A, A

L
& So—

[~ 2.25" (TYP.)

¥ ¥ ¥ . 2

s I Re——

&
;

L

i
6'MAX. |
0.C. (TYP)

TYP. SIDELITE TO FRAME
ATTACHMENT
TYP.

MULLION TO SILL DETAIL

CONCRETE ANCHOR NOTES:

. Concrete anchor table:

. Substitution of equal concrete anchors from a different supplier may have different edge

distance and cenler distance requirements.

. Concrete anchor locations af the comers may be adjusted to maintain the min. edge

distance fo mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded.

T
s ]

DeWALT

ULTRACONS 5/16 1-1/4° 3-1/8 5

WOOD SCREW INSTALLATION NOTES:

prevent the splitting of wood.

. Maintain a minimurn 5/8" edge distance, 1" end distance, & 1" o.c. spacing of wood screws to

2X FRAMING —\
A

I
l
Rk |

31.125"

|
]|
£

e 31.125"
=
w

HINGE JAMB

THE ENGINEER OR ARCHITECT OF
RECORD TO DETERMINE FRAMING
REQUIREMENTS BASED ON WIND

| R S

‘('I

SECTION A-A

HINGE DETAIL

LOADS AND THE CLADDING BEING 2,

USED. I\
6" MAX. <
ocC. §

\\Q%
ﬂ | | 2.25" (TYP.) ;)
<<
)] . % -
= T
i :
A [ it
.- .
== T
5 O
o | | © :C?,
N wn
& TYP. SIDELITE TO FRAME
ATTACHMENT
FLOOR ‘ ! .
SUBSTRATE % i
e | A-A il
) o | =]
4%% %o
€9 STRIKE JAMB

STRIKE DETAIL

n
]
n
.9
g!")
£ N
om
[ Bl o
E 0O
Z 0g0
=
4 R
S 27Kz
3@ 2 oo
W 532D
&, oU:8
3L gg=e
FEo F0¢
a £0 -1 ‘CLIJ
£ 68 5028
& ¢ Dok
F- 2
[ [¢]
© C
E 6% L§
= U .
g su
o 2o
=
5
P
o 2
Ly =
z= X
S X
= RS
x s L
<__‘ =
oo m| <
=< ul = 1y
D b= 1ud
an gg
e @ e
O 14
2 E e
S| & |
o < [a
oln
X|>-
S|5151R
218
L._u_gé
SER
QUIKIE
SO
d S 2
BBls| &
|| |@
RISE| 5
ooln o
s»—g
==
ala|S
alnig,
3315
&
N
BN
Lp)
~lo
M- |9
oATE: 03/14,/12
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—15362.2

SHEET 10 ofF 12

© 2012 R.W. BULDING CONSULTANTS INC.



\\dcOT\rwbc\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15362 - Swinging Ext Doors - Redituff and Achieve\C - Drawings\FL-15362 (2020)\FL-15362.1-6.dwg

—

®p AP

244

lu\ IM\
MULLION TO HEAD DETAIL
MASONRY
OPENING \ £ MAX,
e 0C. —| (=—35"
N I R |
b s
TYP. HEAD ?
F ) & jAMBS
S
N
=3
q
TVP. !
%
v ____._' }_‘___ 4(«

53
TYP. SIDELITE TO FRAME

ATTACHMENT

CONCRETE ANCHOR NOTES:

. Co

. Substitution of equal concrete anchors from a different supplier may have different edge

distance and center distance requirements.

. Concrete anchor locations at the corers may be adjusted to maintain the min. edge

distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded.

te anchor table:

DeWALT Ul " . " "
ULTRACONS 5/16 1-1/4 3-1/8 5

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of wood screws to

prevent the splitting of wood.

§MAX.
0.C.(TYP)

9"

1
I
|,

31125

|
£3
w

[-—31.125"
=)
w

HINGE JAMB

i
o]
i)
]
o™
zZ .
THE ENGINEER OR ARCHITECT OF AEBm
RECORD TO DETERMINE FRAMING Fgan
REQUIREMENTS BASED ON WIND . ££2°
LOADS AND THE CLADDING BEING ), e S 3288
USED. ‘o, W ZJo R
TTETTALA Y 8R.%
gt 9528
6" MAX Sl2£3 372w
. ] [T R~3 = O’ 00O
2XFRAMING \ o.C. (TP \ =[E 9 RED
A\ — -3 L .
| | 35 g =
~ l ‘> g 30 .
! ‘ <|§ g Q<
. s = — o go
! ' ° 4 | ! | =
. ~! 1L [a— ? - - . E
% | ° ™ g
- - | - o
{ TYP. HEAD } W =
& JAMBS . 5 3 S S
- - O
p s |t . |3z
™ z3 s w
D= ]
1 4 QW 0 =
R f e |9 &
A -1 - | - . L 5 'E’ o
% 5 & ) 22 |2
- - -2 S| & |k
? — Zg d T Bl = |8
:o .
= O Q
& = T & SRS
7 3 > 33
[P IR L6 ]
3 y AF\\E
14 il TYP Sk
= =1 1 o =
o » FLOOR % ] S8 o
[y SUBSRATE  —| 1T [I[1 7} = 88ls| B
[ MATERIAL ' A =5 &
v/ B N il ___J el k F(B IXE) al
o >, o) [*
N [
TYP. SIDELITE TO FRAME it
Qg
ATTACHMENT FRAME ANCHORING STRIKE JAMB 55|
SKle|.,
— Rl
BENE
: @
N DATE: 03,/14,/12
[é SCAE  N.T.S.
DWG. BY: JK
P chk. B:  LFS
DRAWING NO.:
SECTION A-A HINGE DETAIL FL-15362.2

STRIKE DETAIL

SHEET 11 oF 12

© 2012 R.W. BUILDING CONSULTANTS INC.



\\dcO\rwhc\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15362 - Swinging Ext Doors - Redituff and Achiever\C - Drawings\FL-15362 (2020)\FL-15362.1-6.dwg

BILL OF MATERIALS
ITEM | DESCRIPTION MATERIAL

A_| 2XBUCK SG >= 0.55 WOOD
B_| 1/4" MAX. SHIM SPACE -

| MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F_| #8 X 1" PPH SCREW (7/8" MIN. EMBEDMENT] STEEL
G_| #8X 1-1/2"PPH SCREW (7/8" MIN. EMBEDMENT) STEEL
J_|1/4"X 2-3/4" DeWALT OR ITW CONCRETE SCREW STEEL
M_| #8 X 1-1/4" PPH SCREW STEEL
N[ #10 X 2-1/2"PPH WOOD SCREW STEEL

P [#8X 1-1/4"PPH SCREW STEEL
20 | SEALANT SILICONE
22 | #7 X 3/4" PFH SCREW STEEL
23 | #9 X 3/4" PFH WOOD SCREW STEEL
25 | DEADBOLT STRIKE PLATE STEEL
26_| LATCH STRIKE PLATE STEEL
27 | HINGE STEEL
28| WEATHERSTRIP FOAM
29 | FRAME STEEL
41| INSWING THRESHOLD ALUM./WOOD
48 | MULLION PAD SPACER PVC
49 | MULLION CAP STEEL
50 | MULLION LVL
51 | #10X 3" PFHWS STEEL
52 | INSWING SIDELITE SPACER PVC
53 | 5/16" X 2-1/4' DeWALT CONCRETE SCREW STEEL
54 | #12 X 2" PFH WOOD SCREW STEEL

4 +
263" | e
{
) oo
— 1125 — 25—
572"
. FRAME
2.44"

213

it ].5" |

™
\ m
. MULLION
5.63" —
—-1.54" -

) 1
0.06

41

INSWING THRESHOLD

ENDURA

t<——v 2.59" ——-—1

®

2.

MULLION CAP

.
ooooo

August 11, 2020
Documents Prepared By:

Lyndon F. Schmidt

P

ALoro
ONAL

4
mnny

EAY)
’ !@
7,
,// /
BUILDING CONSULTANTS, INC.

8"......-

813.659.9197

2
P.O. Box 230, Vairico, FL 33585

Phone No.:

Ry

FBPE Registry No. 9813

DUNBARTON
ACHIEVER STEEL FRAME SYSTEM |P.E. No. 43408

BILL OF MATERIALS
AND COMPONENTS

PRODUCT:

DAC
JK
BY

0.55" —»=

I

2.6"

0.55" —=

-~ 225" |

4.38"

1.01"

8/29/17 [UPDATE TO 6TH ED, (2017) FBC |LFS| PART OR ASSEMBLY:

3/23/15 |UPDATE TO 5TH ED. (2014) FBC

3 18/11/20 |UPDATE TO 7th ED. (2020) FBC

NOJ DATE

N

1

REVISIONS

DATE: 03 /14,/12

@ MULLION PAD SPACER

SCALE: N.T.S.

owe. B:  JK

CHK. BY: LFS

DRAWING NO.:
FL-156362.2

SHEET 12 oF 12

© 2012 R.W. BUiLDING CONSULTANTS INE.



